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Classwork 13, MATH 1113 Harrison Chapman Name:

1. Approximate by using the change of base formula. Include at least 3 decimals in your answer.
a) logg(63) ~ |, Q9 2.1
b) logs(17)~ |, 7 6LOH
o) log,s(1) = O, +6 4%
d) loggs(66)~ 7,72 07
¢) loggs(3)~ — 1. 5344 6

2. Solve the equation
455 +13 _ 7-8x
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3. Solve the equation
48

(ex)zw-Se"—trI:O
Q‘Uag’w’&*lrf we e y
\ . \ L{g < __’E,_ v W (
x 5 = CDV-—‘—;‘/!)(TJ A VAR A
e - 2
Z-
= 8§x e _ 8EY - dirp
il (= i ?(fi _-j'fx-wfj'
< Ly
S 2 9/ B ] (‘/C’:—/Q/\A@:) it
o e = +2=¢( ‘g SO AMLTIA -
W e%= y-2 =2 o



4. Solve the compound interest formula for ¢ using only natural logarithms:
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5. Solve the equation
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